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Question 1

Question Type: MultipleChoice

Refer to the exhibit.
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Which feature must be implemented on postman to receive the response from a cisco nexus 9000 series switch?

Options:

A- API token in the APIC-cookie
B- username and password in the Nexus-cookie
C- username and password in the api/mo header

D- certificate in the HTML Nexus-AP| header

Answer:

Question 2

Question Type: MultipleChoice

An engineer must connect a Cisco UCS appliance port directly to NFS and iSCSI storage devices. Which action should be taken to
achieve this goal?



Options:

A- Configure NFS and iSCSI to use the same VLAN tag on the appliance port
B- Configure the appliance ports m access mode and apply VLAN tagging on the storage
C- Configure the appliance ports in trunk mode and apply VLAN tagging on the storage

D- Configure VLAN tagging on the storage and the Cisco UCS simultaneously.

Answer:

C

Question 3

Question Type: MultipleChoice

Refer to the exhibit.



switch# show fabric-binding database active wvsan 10

21:00:00:00:00:00:00:10

21:00:00:00:00:00:00:20

21:00:00:00:00:00:00:30
[Total 3 entries]

Refer to the exhibit An engineer must configure fabric binding on a Cisco MDS 9000 Senes Switch to match the output Which fabric
database configuration accomplishes this goal?



CISCOMDS (config)# vsan database

CISCOMDS (config-vsan-db)# swwn 21:00:00:00:00:00:00:10
CISCOMDS (config-vsan-db)$ nwwn 21:00:00:00:00:00:00:20 domain
CISCOMDS (config-vsan—-db)# nwwn 21:00:00:00:00:00:00:30 domain

CISCOMDS (config)$# fabric-binding database wvsan 10

CISCOMDS (config-fabric-binding)# swwn 21:00:00:00:00:00:00:10

CISCOMDS (config-fabric-binding)# nwwn 21:00:00:00:00:00:00:20 domain 20
CISCOMDS (config-fabric-binding)# nwwn 21:00:00:00:00:00:00:30 domain 30

CISCOMDS (config) # vsan database

CISCOMDS (config-vsan—-db)$# swwn 21:00:00:00:00:00:00:10

CISCOMDS (config-vsan—-db)# nwwn 21:00:00:00:00:00:00:20 domain 20
CISCOMDS (config-vsan-db)# nwwn 21:00:00:00:00:00:00:30 domain 30

CISCOMDS (config) # fabric-binding database wvsan 10

CISCOMDS (config-fabric-binding)# swwn 21:00:00:00:00:00:00:10 domain any
CISCOMDS (config-fabric-binding)# nwwn 21:00:00:00:00:00:00:20 domain 20
CISCOMDS (config-fabric-binding)# nwwn 21:00:00:00:00:00:00:30 domain 30

Options:




A- Option A
B- Option B
C- Option C
D- Option D

Answer:

D

Question 4

Question Type: MultipleChoice

Refer to the exhibit.



MDS# show role
Role: network-admin

Description: Predefined network admin role

rule 5 permit show feature hardware
rule 4 permit show feature environment
rule 3 permit config feature ntp

rule 2 permit config feature ssh

rule 1 permit config feature tacacs+

Role: Custom-Role-B
Description: Additional admin role

rule 6 permit config feature dpvm
rule 1 deny conflg feature tacacs+

Refer to the exhibit A Cisco MDS 9000 Series Switch is configured with RBAC The default role applies to all users User A is also
assigned to the rote Custom-Role-B Which set of features will user A be authorized to configure?

Options:

A- hardware
environment
TACACS+



B- NTP
SSH
DPVM

C- DPVM
NTP
SSH
hardware

D- SSH
DPVM
TACACS+
NTP

Answer:

D

Question 5

Question Type: MultipleChoice

A network engineer needs a solution that simplifies the initial deployment of cisco nexus series switches. The solution must support
these requirements:



* zero-touch provisioning

* configuration through DHCP options

* initial configuration from a central TFTP server

* no manual configuration management after the initial installation

What technology supports these goals?

Options:

A- POAP

B- Ansible

C- Cisco Intersight
D- Chief

Answer:

A

Question 6




Question Type: MultipleChoice

Which device alias database is shown by this output?

- et el e, o

switch# show device-alias database
‘device-alias name SampleName pwwn 24:37:00:01:06:0b:27:56

Options:

A- inactive database
B- zoning database
C- pending database

D- effective database

Answer:

Question 7

Question Type: MultipleChoice




Which storage solution operates at the file level and contains its native lightweight operating system on simplified hardware?

Options:

A- NAS
B- SAN
C- unfield fabric

D- standard file server

Answer:

Question 8

Question Type: MultipleChoice

Which two components are used by the Cisco Nexus switches telemetry process? (Choose two)



Options:

A- data encoding

B- data manipulation

C- telemetry agent

D- telemetry compression

E- data collection

Answer:

A E
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